2B O9(3) - MRAY - BES Ofl o I3 o GImE==T
HMSEEL 25,939,090 17,509,589 8,429,501
= 101,411 101,411
= 3,712,000 3,712,000
J| 1,075,942 1,076,001 A59
== 255,886 243,386 12,500
Al 19,758,091 12,041,031 7,717,060
= 1,035,760 335,760 700,000
HsolZet RE(2L2Z/H=) 23,865,600 15,476,295 8,389,305
= 101,411 101,411 0
= 3,712,000 3,712,000 0
J| 1,075,942 1,076,001 A59
< 255,886 243,386 12,500
Al 17,684,601 10,007,737 7,676,864
= 1,035,760 335,760 700,000
HMSAE &= 16,533,008 8,544,086 7,988,922
= 101,411 101,411 0
= 3,712,000 3,712,000 0
J| 360,000 360,000 0
Al 11,611,043 4,322,121 7,288,922
= 748,554 48,554 700,000
SSHSAE 2Y 1,140,000 970,000 170,000
401 AIEBIZL S008I 1,140,000 970,000 170,000
01 Al&H| 1,137,120 966,040 171,080
ONMAEEX 2 1A IIF2EHE 5 &AM 9|
150,000,000 * 1Al 150,000 0 150,000
OLRHNOIEEE =XE ZESA
170,000,000 x 1A! 170,000 0 170,000
OZH2xt 2 MISAIE TUZ HXISAHESH AF2)
28 0= 0 148,920 A148,920
03 Al 2204 2,880 3,960 21,080
OZ2xt 2 MSAE TUZ HXISAHSEN A2)
323 03 0 1,080 1,080
SUIMSAE 29 238,800 178,800 60,000
401 Al &EHIZL LY 225,000 165,000 60,000
01 Al&Hl 225,000 165,000 60,000
OsUIMSAIE 28017 &X
23X 4,000,000 %3074 A 120,000 80,000 40,000
OsUMsAE =& 28717 X
2 4,000,000 %150 A 60,000 40,000 20,000
Al A= E 2F 2,044,660 2,060,027 15,367
201 et | 854,604 866,484 11,880
01 AtR2elt] 84,420 96,300 11,880
OEE= HE(0MEY)
ZA 1,8002%2,5008 4,500 5,000 A500




M M=
HE: MgZ2} PH(2L2AE/AK)

2 HSAE &5 (Crel: & 2l)
SH - BB CR(E) - HIRAY - BES Ofl b Jl 3 o Hns2
OaU=gE 22 2 (o)
A 22,500,0002 22,500 25,000 22,500
OaU4+=g& A2 FA(0aE2)
ZA 1,170,000 122 14,040 15,600 A1,560
OZF AL ALRZt2|l (ol Ak 2t )
ZA 2,700,000 2,700 3,000 A300
OF=D| eEZ(0arEe)
2 36,0002*11CH« 12 4,752 5,280 A28
OFIEA! Hldl SAIZel(oaE2)
ZE 31,5002+ 1304* 12 4,914 5,460 A546
OUZIIE ZF =Z(0AEZ)
ZA 1,170,000 122 14,040 15,600 A1,560
OAU4=g& 3 FU(0ArE2)
2A 2, 70022, 00004 5,400 6,000 AB00
OYg=+Z Ls 29X A (0AE2)
ZA 270,000 x58FA 1,350 1,500 A150
O=ZA EIR2 NE(HaEZ)
Z& 135,000& 122 1,620 1,800 A180
O=za 238 2 (0larE)
AA 450,000 4N E 1,800 2,000 A200
Oalll+Z& SRMA 2FEIL =2(LU) (SN
Ab2t) 38 0& 0 2,500 22,500
OM2=% 2EBAM =22 (0AEZ)
2 63,0002 %23+ A 252 280 A28
O&EIl L JAHEH 22E P(MAEZ)
23 900,000 23] 1,800 2,000 A200
O3+ & AT F(oflarE2)
A 450,0002*43] 1,800 2,000 A200
O=g=x HAJ| 2H R (0aE2)
ZA 54, 000*40*123] 2,592 2,880 A288
OJIZHIZ2Z2X S WS HERAR AASE(HlarEZ)
2H 90,0002%42 360 400 40
405 KHabE S| 11,013 14,500 A3,487
01 AR SEFSHI 11,013 14,500 A3,487
O=AD|F FA(0AE2) 7,369 8,700 1,331
—EXMVARE F2
2 3,300,000 *1CH 3,300 4,000 A700
—EXEEEZR 7Y
2 3,300,000 *1CH 3,300 3,500 A200
—QIZ2oIdIX (0= +=AE) 2
ZH 769,000&*1CH 769 1,200 A431
OED| P (HHTH A2}
ZA 108,0002*10CH 1,080 2,200 21,120
OXBI e (ofarE2)
2 641,000 404 2,564 3,600 21,036
Het=sl=dd 29 269,024 273,294 A4,270
201 LE23H| 163,032 164,694 A1,662
01 At22teld| 14,958 16,620 A1,662




2N HSAED
M HSTe) DE(SAUDB/S)
N F

gHelr HSAE &S (Crol: X 21)
SA B SR(E) - HRAY - A2 Ofl kot Il H o C[ImE=ST}
Oljst=Asad 4222 2(MAEY)
4dF 450,000&*123 5,400 6,000 2600
OUSINE ZFF =S (0AE)
AR 27,0002 +8IH A+ 122 2,592 2,880 A288
OUst=AEEE =4 12 NE(HaE2)
AA 36,0002 x1241%123] 5,184 5,760 AS76
OF=D| eEZ(0arEe)
FE 36,000R*30H+ 128 1,29 1,440 A144
OMz=Z SZZAI 22 (0aE2)
Z& 63,0008 *1JH2#23] 126 140 A4
O3+ 2 XA 2(oflarm)
Z& 90,0002*43] 360 400 A40
405 KHabE S| 9,392 12,000 A2,608
01 AR ESEFHSHI 9,392 12,000 A2,608
Olist=AZE =4 dyuld 2 (0arEd)
A 782,600 *12CH 9,392 12,000 A2,608
(D)AE=AHEAA ZTHAY 8,712,000 3,712,000 5,000,000
= 3,712,000 3,712,000 0
Al 5,000,000 0 5,000,000
401 AIEBIZL S008I 8,712,000 3,712,000 5,000,000
= 3,712,000 3,712,000 0
Al 5,000,000 0 5,000,000
01 Al&H| 7,890,220 3,712,000 4,178,220
OAE=HEAUNA =4
A 7,890,220,000 7,890,220 3,712,000 4,178,220
= 3,712,000 3,712,000 0
Al 4,178,220 0 4,178,220
02 Zeldl 800,000 0 800,000
OAEZ=HEAUA 24
800,000,000 *1A! 800,000 0 800,000
03 Al 2204 21,780 0 21,780
OAEZ=HEAUA =4
21,780,000 %14l 21,780 0 21,780
(D)EFAL2SHE MEHSIE ZH(XSAIY) 98,269 0 98,269
401 Al&EHIZL LY 98,269 0 98,269
01 Al&Hl 98,269 0 98,269
OANQI2ESE METSIR T4(SEH AL
08,268,490 %14l 98,269 0 98,269
2lls S22l MENsSsd 25 (NELAEUSIIZ) 1,980,290 0 1,980,290
401 AIEBIZL S008I 1,980,290 0 1,980,290
01 Al&H| 1,980,290 0 1,980,290
O35 sl MENSSE ZdAY
1,000,000, 000 %1 A! 1,000,000 0 1,000,000
OIS S22 MENsSSA LA (20224
ANLLEUSI2) (SEX THHA)
980,290,000 *1A! 980,290 0 980,290




2A:
X{XH -
o /e

cH):

SA - B G(3) - HRAY - BES Ofl Aot )l 3o {ImE=ST
(2VYFANOU2SE LSUESLAE B+ 1,900,000 1,200,000 700,000
J| 360,000 360,000 0
Al 840,000 840,000 0
= 700,000 0 700,000
401 AIEBIZL S008I 1,900,000 1,200,000 700,000
J| 360,000 360,000 0
Al 840,000 840,000 0
= 700,000 0 700,000
01 Al&H| 1,900,000 1,200,000 700,000
OARIZsE FLSSAAIE 2+
23 1,900,000,000& 1,900,000 1,200,000 700,000
J| 360,000 360,000 0
Al 840,000 840,000 0
= 700,000 0 700,000
Mss2td =4 7,332,592 6,932,209 400,383
J| 715,942 716,001 A59
< 255,886 243,386 12,500
Al 6,073,558 5,685,616 387,942
= 287,206 287,206 0
AEX0OIAE 2d3) 35,400 36,000 2600
201 LE23H| 5,400 6,000 2600
01 At22teld| 5,400 6,000 2600
OXXNEHE FXI(0IAIEZ) 5,400 6,000 2600
—dXEd =X E2=235 MH
ZA 5,400,000 5,400 6,000 A600
SF=APMSUHI X2 428,400 476,000 A47,600
307 212t01™ 428,400 476,000 A47,600
04 QIZFSHAIAIE E X 428,400 476,000 A47,600
OXM453] SFALMEUS HeZH(BExE FY)
(Ol arE2) 2AE 144,000,000 144,000 160,000 16,000
OHI453| d=x=Al2IM=e SHs NJA(BExE HY)
(GlarE)
ZA 247,500,000 247,500 275,000 A27,500
OHM453] SFALMEU SNSsw XA(BE2
) (olarE2)
23 31,500,0002 31,500 35,000 A3,500
ORMI453| I=AICIHM=EUE &t SSC K&
(228 FY)(oaE)
2 5,400,008 5,400 6,000 600
ANED| S=8 Jslz XA 108,000 120,000 A12,000
307 212t01™ 108,000 120,000 A12,000
04 QIZISHAIAIR BT 108,000 120,000 A12,000
OAIEI| &2E MU HE X2 (0aEZ)
AA 4,500,000 *24E=2 108,000 120,000 212,000
SuMsEsAXRA 572,300 212,300 360,000




A MSEH
M Aot AH (2L 2/ HR)
gelr dsed x4 CEEEN
2A - EH - O2(3) - NRAY - BAS O kol J| & o HIDE2
402 DIZHXHE01H 360,000 0 360,000
01 CIZEXH=2 A B2 (XERITHE) 360,000 0 360,000
OZ=SHEZU XIGAle] SFEAUHA DALY
(BXE 90%) 400,000,000 & *141%90/100 360,000 0 360,000
A=Y EHRMFUE M=K 505,400 506,000 AB00
201 LE2 3| 5,400 6,000 AB00
01 AtR2elt] 5,400 6,000 AB00
OX=0U3 SFXI(HAEZ) 5,400 6,000 AB00
—&==0 M 23 900,0002 900 1,000 A100
—=E2= M 22X 4,500,000 4,500 5,000 A500
MEH=SUHIISHEXA 176,000 180,000 A4,000
307 212t01& 176,000 180,000 A4,000
04 QIZISHAIAIR B 36,000 40,000 A4,000
02024 G=Al 1-212(RELE) SRS K=
(GlatE2) AR 36,000,000 36,000 40,000 24,000
AQUAZZHI U X 19,800 22,000 22,200
307 212t01™ 19,800 22,000 22,200
04 QIZFSHAIAIR E X 19,800 22,000 22,200
OAQl AZ2T10H3] JHE XIJ(0IaEZ)
23 19,800,0002 19,800 22,000 A2,200
Z=el =X 11,800 16,800 A5,000
307 212t01 & 11,800 16,800 A5,000
04 QIZISHAIAIE BT 10,000 15,000 A5,000
O2024 &2 SFUS(EZE HH) (MSAS
B (Z)EE2IZSF2UIIX"22)
28 0 0 5,000 25,000
MHSHEHUS K 63,000 70,000 A7,000
307 212t01™ 63,000 70,000 27,000
04 QIZFSHAIAIE E X 63,000 70,000 A7,000
02024 H=AIRIXEHEIITHE] HEI(OIIAHE)
Z& 9,000,000 9,000 10,000 21,000
OHMI12g] BHEMH2t J2HET IHE(BEERE HH)
(Ol &t 2L 2% 54,000,000 54,000 60,000 26,000
IOHFEESHOIAIEE H=2A0I2CHS 63,000 70,000 A7,000
307 212t01& 63,000 70,000 A7,000
04 QIZISHAAIR BT 63,000 70,000 A7,000
OX63] 2LIMFSETEST O|AFEH M= AIOI20H3] &
2024 DIAEE SFEN JNE(BEg ) (olaE)
23 63,000,0002 63,000 70,000 A7,000
A== X 50,000 65,000 A15,000
307 212to1™ 50,000 65,000 /15,000
04 QIZFSHAIAIE E X 50,000 65,000 /15,000
OHN73 HHISSEHIIE FELHIEU(BExE
HH)(MEAIR HE:(Z)E22 USRI 2 2)
AN o 0 15,000 A15,000




M M=
HE: MgZ2} PH(2L2AE/AK)

e M= Ad (Ctol:®2l)
2A - B ERI(E) - HIRAY - BER Ofl Akt J| & o HmE2
ZS5e2|J0E X 9,000 10,000 A1,000

307 QI2H0| M 9,000 10,000 A1,000
04 QIZISHAAIR BT 9,000 10,000 A1,000
OZ=cldX e FAaraigle| OF2iH!
(Bxg ) (ol F* F)
A3A 9,000,000 9,000 10,000 A1,000
orRlE=s01d 29 215,000 155,000 60,000
401 AIEBIZL S008I 75,000 15,000 60,000
01 Al&H| 75,000 15,000 60,000
FHOIAS=01E oli=7
60,000,000& * 14! 60,000 0 60,000
(2)HEAMHSIEX IXI(ZHSXIE) 125,136 125,172 N36
J| 62,568 62,586 A18
Al 62,568 62,586 A18
307 212t01 & 125,136 125,172 A36
J| 62,568 62,586 A18
Al 62,568 62,586 A18
02 QIRHBAIAHE R 125,136 125,172 A36
Ooz4l MEXHSXISXH Ui X
AA 2,607,000 *4x 122 125,136 125,172 A36
J| 62,568 62,586 A18
Al 62,568 62,586 A18
(2) LB S EA HXI(ZSXIR) 281,556 281,637 A81
J| 140,778 140,819 A4
Al 140,778 140,818 240
307 212t01& 281,556 281,637 A81
J| 140,778 140,819 A4
Al 140,778 140,818 240
02 QIRHBAIAHEE R 281,556 281,637 A81
Oger MEHISXIEX BHXI
AA 2.607,0002*x0%x 122 281,556 281,637 A81
J| 140,778 140,819 A4
Al 140,778 140,818 240
(DINZERE2SZIIRSLEXA 1,736,900 1,736,900 0
== 158,000 158,000 0
Al 1,320,000 1,320,000 0
= 258,900 258,900 0
301 Let2d= 1,716,900 1,736,900 220,000
< 158,000 158,000 0
Al 1,320,000 1,320,000 0
= 238,900 258,900 A20,000
2=t - 2SESE4= 1,716,900 1,736,900 A20,000
OS2 2E(U=FE " THILEEFSH"R)
23 1,716,900,000 1,716,900 1,736,900 A20,000




2A: HsdED
A HRZY AR(2SAL2E/HF)
gelr dsed x4

2A - HH - H(SH) - MRAIY - BES Ofl Akt Jl & oA Hws2t
< 158,000 158,000 0
Al 1,320,000 1,320,000 0
= 238,900 258,900 20,000
405 AR SH 20,000 0 20,000
= 20,000 0 20,000
01 RIS EFSH| 20,000 0 20,000
O=A IHE, J172 (U2 "Het - 225
SAS"0A)
20,000,000 * 1Al 20,000 0 20,000
= 20,000 0 20,000
(E)H22CUHIXK 23,000 0 23,000
[= 8,000 0 8,000
Al 15,000 0 15,000
307 2I2H0|® 23,000 0 23,000
[= 8,000 0 8,000
Al 15,000 0 15,000
04 DIZFHAIAIRIE X 23,000 0 23,000
OM78l SHISHENIIE FSLHI U (EXRE
HH)(FZLHEE AIS)(MRAIY HEY:"H22E
CHEIXI 2" Ol AT ) 23,000,000 %14l 23,000 0 23,000
(= 8,000 0 8,000
Al 15,000 0 15,000
(BB ECERE=NENE] 9,500 0 9,500
< 4,500 0 4,500
Al 5,000 0 5,000
307 2IZH0|® 9,500 0 9,500
< 4,500 0 4,500
Al 5,000 0 5,000
04 DIZFHAIAIRIE X 9,500 0 9,500
02024 E&ER| ] SR (EXE HY)(ZILEA
AS)(HIRAY HA P22 ISTUHE XK 0l A)
9,500,000 14! 9,500 0 9,500
(= 4,500 0 4,500
Al 5,000 0 5,000
A AHAZDI|HE X 50,000 0 50,000
307 SI2H0|® 50,000 0 50,000
04 QIZFSHAIAIIE X 50,000 0 50,000
Oz HA2AI|U5| Mzl X2 (BEES HH)
50,000,000 x14! 50,000 0 0,000
HIOITAIE 22|(2SL2Z/HS) 1,085,688 1,086,292 2604
HHOITAIE 22 1,085,688 1,086,292 604
AZAl IEHBR 29 169,926 170,530 604
201 LEH2HH] 66,070 66,674 604
01 Al22t2IH| 5,440 6,044 604




A H=HEL

S HI0ITAIE 22(2SL2E/MF)
el HIOIDAIE 2t CEREERD
2A - HH - G(3) - HIRAY - BES Ofl At ol o HRz2
OYFAl I HBE 2 (0laE2) 5,440 6,044 2604
—S3XEA oS AIRES 72
38 63,0002*128 7%6 840 N84
—XENSH Z2E E 7Y
Z& 360,000&1CH 360 400 A40
—NEH HNES B9 &
A 54,0008 *10% 540 600 £B0
—XHEANSE 2HE & i AX
A 450,0002 450 500 250
AP ISEMH=E 72
B8 1,260 *20Hx180 454 S04 A50
— KA ot BES T
AA 1,800,000 1,800 2,000 A200
—3t&EY HAES 7Y
2 90,000 * 12 1,080 1,200 A120
Apl2sazte|(2e Y22/ HS) 792,442 797,728 N5,286
Z0MSHEH 22l 206,486 208,869 A2,383
IOIMFHH AlZ2tel 200,486 202,869 A2,383
405 KHaEE S| 14,917 17,300 A2,383
01 AR ESEFHSHI 14,917 17,300 A2,383
OERHA JA(0AEZ)
AA 75,600 %100CH 7,560 8,800 21,240
OEFTH 2 (olarm)
25 1,206,0002!+4CH 4,824 5,500 ~676
OHMSI| 2 (olarm)
2 2,532,600 1CH 2,533 3,000 AABT
M=sAl L2 585,956 588,859 A2,903
ANRI2SZE 2t 577,476 580,379 A2,903
201 LE23H| 374,028 375,404 A1,376
01 At22teld| 12,384 13,760 A1,376
OSIHAESE F(MAIE2)
ZE& 90,000&* 123 *501 A 5,400 6,000 4600
OMADIBHHSE 2 (MlAEZ)
ZE 1,6922%2001*1502 5,076 5,640 A564
OAQI2SE EI=2I] P (0laE2)
2 63,000*3E+63) 1,134 1,260 A126
OANQI2SE F=2=D| sgh|(0larE2)
2 27,0002% 12 324 360 A3
OJIZtHI2E X HE =S (HlAEZ)
ZA 90,0002 %5 450 500 AB0
405 KHabE S| 12,573 14,100 A1,527
01 AR SEFSHI 12,573 14,100 A1,527
OXsSAEEAD| 2 (0IAEZ)
2 1,980,000 *50H 9,900 11,000 21,100
ORABIZR M| 2 (0laEZ)
A 354,552 %50 1,773 2,100 AN327




2A MSHEDH
& A 2sE2(2L2Z/HF)
&2l MSAIE22] (CHol: X 2)
2A - EH - O2(3) - NRAY - BAS O kol J| & o HIDE2
Oul=Dl, &I F(0larE2)
2 450,000 *2CH 900 1,000 A100
HH2AZU(MSEE) (IIEHIIE) 136,662 149,274 A12,612
Jl2&Z| 136,662 149,274 N12,612
J|12&l 136,662 149,274 A12,612
201 et | 53,274 56,754 23,480
01 AtR2elt] 53,274 56,754 A\3,480
OSAZX P (0larEZ)
38 4,752,000 4,752 5,280 528
OS201AHI (ol AR )
AA 13,305,000 13,305 14,784 A1,479
Ogttx2 (0l AHE2)
Z3 1,080,000 1,080 1,200 A120
OLRE SARHI(AEZ)
28 540,000 540 600 260
OAA2a68I(0AIE2) 9,261 10,290 A1,029
—SAI(UE) 22l
Z2& 1,350,000 1,350 1,500 A150
—ZglFI| =2l AA 225 0002 225 250 A25
—=AD| EYH 23X 1,350,000 1,350 1,500 A150
—ZEIHJ|(EH) Eu
AA 4,500,000 4,500 5,000 A500
—IEIED|(Zet) Ed
Z2& 900,000 900 1,000 A100
—pC 42 2 396,000 39% 440 A4
—J|Et ==2lbl A 540,000 540 600 260
OJIEF APl (0flArE2t)
2 2,376,000 2,376 2,640 AN264
202 0441 78,408 87,120 NB,712
01 2U0dH| 78,408 87,120 NB,712
OZLHoddI (ol arE )
AEH 57,024,000 57,024 63,360 A6,336
OZ2loidl(ofl &= 2)
A 21,384,0002 21,384 23,760 A2,376
203 HRF&IY| 3,780 4,200 2420
04 EA2IHRFEHI 3,780 4,200 A420
ORMSILRFTHI(HlarE2)
Z2& 3,780,000 3,780 4,200 A420
HRES(HMSTEDN) (2L 2/ HK) 58,698 0 58,698
I=PSNES 58,698 0 58,698
SEXNE 58,698 0 58,698
802 Btz DIEt 58,698 0 58,698
01 =NExZeEa 56,805 0 56,805
02023 &= 24,172 0 24,172
—otHE= AEEsEIIR 28 XN&
24,130,000 1Al 24,130 0 24,130




2A:
X{XH -
o /e

cH):

2AM -3 . S2(3H) - MRAEY - BES 0 roH J| & o Hns2t
—SIHE=S ZHRESHIIE 29 K (0IXH)
41,0702% 1Al a2 42
Q022 &= 28,922 28,922
—MESKISXH HIX
27,171, 100214l 27,172 27,172
—MEHISKISXF BIXI (01X
1,171,440 14l 1,172 1,172
—024 MEYS KIS BHXI(OIXH)
270,790 14l 27 27
—MESACA B=882 1Y
299,000 %14l 300 300
—MEY ST =282 X (0IX)
6,06020x14! 7 7
o201 3,711 3,711
—024 MEY SIS X
3,654,000 14l 3,654 3,654
—0l241 MEIS XIS BIXI(OIXH)
56,4802 %1 Al 57 57
02 Al - THIEXZ28E2 1,893 1,893
O2023E & 1,893 1,893
—H73 F=HHIDS B2 ZOHQIHISHE
JHE X2 (OIX}) 210214l 1 1
— A ABHAIDIZHECHS] JHEIXIR (01K}
3,880 %14 4 4
—MEHSDA 2K
575,000 %1 4] 575 575
—MEHSNA XK (0IXH
4,1902%14] 5 5
= BV I===SSINPSISES
1,250, 1802414l 1,251 1,251
—HAZHOIESEAIEE2(0IX})
56,4604 %14 57 57




